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Section -1

Attempt any two :

Explain meaning of Cost Accounting. Discuss the advantages and lim

" Accounting.
2. (A) The following data were obtained from the Stores D0 urchases :
Particulars 4
Opening stock 50,
Average stock J g
Inventory Turnover Refio é
ctions urchases and issues of material, Prepare
erage Method. 10
eipts | Rate per unit | Issues Quantity
Quantity in ® in units
Units
200 4.2 -
250 4.56 -
-2020 = - 250
27-12-2020 300 5 -
29-12-2020 — - 400

3. A worker has been allowed to complete a work in 240 hours, but he completes the work
in 180 hours. Labour rate per hour is ¥ 40. If cost of material is ¥ 1,600 and factory
overheads are 100 % of direct labour, find out factory cost as per following methods. 20

(1)  Piece Rate System
(i) Time wage Plan

(1) Halsey premium plan
(iv)  Rowan premium plan
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4. In one compan

The following figure are available from its books :

y there are three production departments and two service departments.

(1) Rent and Taxes 4 20,000
(2) General lighting T 2,400
(3) Indirect Labour 2 6,000
(4) Power ] % 6,000
(5) Debriciation on Machine ¥ 40,000
(6) Misc. Expenses < 40,000
The following was additional information :
No. Particulars Production Dept. S e t.
A B C E
1. |Area occupied 4,000 5,000 0 ,000 | 1,000
(Sq.Mrs.) | ‘
2. |Light Points & 0 40 20 10
3. |Direct Labour (% 0 8,000 [ 12,000 | 6,000 | 2,000
4. |Horse P 120 60 100 20 -
chines (?) | 1,20,000 ‘1,60,0'00, 2,00,000 |- 10,000 | 10,000
T en f Service Departments are allocated as under :
! A B C D E
D 20% | 30% | 40% - 10%
E 40% 20% 30% 10% -
Prepare :

(1) Statement of distribution of overheads among various departments,

(2) Statement of dstribution of expenses of service departments to production
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. Section‘—ll‘r g .
In the following sub-questions, more than one answer is given, of which only one

answer is correct. Select the correct answer. (any five)

Sit 10

(1) Inchemical industry which method is used ?
(A) Process Costing (B) Operating Costing
(C) Job Costing - (D) Unit Costing

" ¥ \lr.
Iofalv, biwr dpldad

& (2) Telephone bill is included in which of the following expenses ? ‘ \
. (A) Semi-Variable Expenses (B) Fixed expenses

e (C) Variable expenses (D) None of the abow(

~ (3) In which method goods remain in the stock u ( '

(A) LIFO method |

(C) Weighted Average w@%&ad e method -
toc \ts of first purchase ?
0

(4) In which
(A)a F (B) LIFO method
@ d Average method (D) Standard Price method

(A Bonus as per Halsey method is calculated at -

(A) 20 % of time wages (B) 33% of time saved
(C) 50 % of time saved (D) None of these

(6) Recess time to worker during the day is -
(A) Not considered as unproductive
(B)  Abnormal unproductive time
(C) Normal unproductive time

(D) None of the above




(7) Which method is used for apportioning service department expense ?

(A) ~ Least Square Method
(B) Comparision Method
(C) Graphic Presentation Method

(D) Direct Method
(8) Which method is also a repeated distribution method ?
~ (A) Average Method (B) Graphic Presentation Metho
. (C) Indirect Method (D) Trial and Error Met ‘
(9) Delivery Van exps. are lncluded in - 0 |
(A) Factory Cost cost
(C) Office Cost

(10) 011 grease, etc.

(B) Direct Labour

(D) Indirect Materials
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